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&������ *+ ��� ������� Black-Scholes �����	
��� �
� ���� ���� �
 �������
���
��� t = 0 ��� ��� ������� arbitrage 	�� �� �������� ����	�	��

(i) F = ST I{ST >K}, K > 0 �asset-or- nothing option�

(ii) F = ST

K1
I{K1<ST≤K2}, K1, K2 > 0 �supershare�

ST �
��� 
 ����
� ������
�� ��� ��
���� �
� ���� �
� ������� ���� �
 �������
���
��� T �

����

(i) ��� 	
 ���� � 
 	
� 
�
!
� � ����
�� ��	� 	�� "�
���# �$�!
�
 T
$!��� F = ST I{ST >K}, K > 0 ��"%$� �	� � 	��# 	
� ��	� 	�� �$�!
�

t = 0 $!���

e−rT EQ(ST I{ST >K})

��
� Q $!��� 	
 �
������ ��
�%���
 ��	�
 martingale  �� 	�� � 
�� ���
r 	
 $��	���
 �$ 	
 
�
!
 ���	
�!�$	�� � "����	��# �
���� �	
 [0, T ]�
�� S0 = ξ, Q��"$��� &$&�!��' 	�	$ � �������� ���� 	��# $!��� !�� �$

∫ ∞

d

ξe(r− 1
2
σ2)T+σx 1√

2πT
e−

x2

2T dx,

��
� 
 ��(	
� ���� 
�	�� 	�� 
)
�)���	��� �����	���� ��	��	
�"$!
�	�� 	�"�!� �$	�&)�	# ST � 
�
!� ��� 	
 ��	�
 Q ��� 	
 Brownian

motion (B̂t)t∈[0,T ] �
� ��
���
�!�
�	�� ��� 	
 *$(���� 	
� Girsanov

$!��� !�� �$ ξe(r− 1
2
σ2)T+σB̂T ' $�( 
 �$%	$�
� ���� 
�	�� $!��� � �����	��

�� �����	�	�� ��+���	�	�� 	�� 	�"�!�� �$	�&)�	#� B̂T �
� ��
)
�+$!
���

���# ��	��
�# �$ ���� 	��# 0 ��� �����
�� T

,



-σ $!��� 
 ���	$)$�	#� �	�	���	�	�� �	� �	
"��	��# ���.
���# $/!����
�
� �$�� ��.$� 	�� ���)�/� �
� ��
)
�+$! � �$	
"# �	
 �
�	�)
 Black-

Scholes0� 1
 ���$!
 d $!��� � 	��# 	�� B̂T ���� ��� 	�� 
�
!� � 	�"�!�
�$	�&)�	# 	�� 
�
!�� +�)
��$ �� &�
%�$ 	� ���� 	��# �$� $!��� !��
�$ ������ ��� �� ���&�!�$� ��	�' ����$� � �$!�	��� 	�"�!� �$	�&)�	#
I{ST >K} �� ��!��$� 	�� 	��# 1� ��	� ���&�!�$� �� ST > K ��)��# ��

ξe(r− 1
2
σ2)T+σB̂T > K ��
�%���� ��)��# �� B̂T >

ln K
ξ
−(r− 1

2
σ2)T

σ
� 1�	$

���
�	�� 	�� �))� # �$	�&)�	#� η = x√
T
− σ

√
T 	
 �������� 
)
�)#�

����  !�$	��

ξerT

∫ ∞

d√
T
−σ

√
T

1√
2π

e−
η2

2 dη

��� $�
����� � 	��# 	
� ���� ( 
� $!��� !�� �$ ξ(1−Φ( d√
T
−σ

√
T )) =

ξΦ(− d√
T

+ σ
√

T ) = ξΦ(
ln ξ

K
+(r+ 1

2
σ2)T

σ
√

T
), ��
� Φ � �+�
��	��# �����	���

��	��
�#� 	�� 	��
�
������� ���
���#� ��	��
�#��

(ii) ��� 	
 ���� � 
 	
� 
�
!
� � ����
�� ��	� 	� "�
���# �$�!
�
 T $!���
F = ST

K1
I{K1<ST≤K2}, K1, K2 > 0 ��"%$� �	� � 	��# 	
� ��	� 	�� "�
���#

�$�!
�
 t = 0 $!��� !�� �$

e−rT EQ(
ST

K1

I{K1<ST≤K2})

��
� Q $!��� 	
 �
������ ��
�%���
 ��	�
 martingale  �� 	�� � 
�� ���
r 	
 $��	���
 �$ 	
 
�
!
 ���	
�!�$	�� � "����	��# �
���� �	
 [0, T ]�
�� S0 = ξ, Q��"$��� &$&�!��' 	�	$ � �������� ���� 	��# $!��� !�� �$

1

K1

∫ d2

d1

ξe(r− 1
2
σ2)T+σx 1√

2πT
e−

x2

2T dx,

��
� 
 ��(	
� ���� 
�	�� 	�� 
)
�)���	��� �����	���� ��	��	
�"$!
�	�� 	�"�!� �$	�&)�	# ST � 
�
!� ��� 	
 ��	�
 Q ��� 	
 Brownian

motion (B̂t)t∈[0,T ] �
� ��
���
�!�
�	�� ��� 	
 *$(���� 	
� Girsanov

$!��� !�� �$ ξe(r− 1
2
σ2)T+σB̂T ' $�( 
 �$%	$�
� ���� 
�	�� $!��� � �����	��

�� �����	�	�� ��+���	�	�� 	�� 	�"�!�� �$	�&)�	#� B̂T �
� ��
)
�+$!
���

���# ��	��
�# �$ ���� 	��# 0 ��� �����
�� T

�



-σ $!��� 
 ���	$)$�	#� �	�	���	�	�� �	� �	
"��	��# ���.
���# $/!����
�
� �$�� ��.$� 	�� ���)�/� �
� ��
)
�+$! � �$	
"# �	
 �
�	�)
 Black-

Scholes0� 1� ���$!� d1, d2 $!��� 
� 	���� 	�� B̂T �$	�/% 	�� 
�
!��
� 	�"�!� �$	�&)�	# 	�� 
�
!�� +�)
��$ �� &�
%�$ 	� ���� 	��# �$�
$!��� !�� �$ ������ ��� �� ���&�!�$� ��	�' ����$� � �$!�	��� 	�"�!�
�$	�&)�	# I{K1<ST≤K2} �� ��!��$� 	�� 	��# 1� ��	� ���&�!�$� �� K1 <

ST ≤ K2 ��)��# �� K1 < ξe(r− 1
2
σ2)T+σB̂T ≤ K2 ��
�%���� ��)��# ��

d1 =
ln

K1
ξ

−(r− 1
2
σ2)T

σ
< B̂T ≤ ln

K2
ξ

−(r− 1
2
σ2)T

σ
= d2� 1�	$ ���
�	�� 	��

�))� # �$	�&)�	#� η = x√
T
− σ

√
T 	
 �������� 
)
�)#����  !�$	��

ξerT 1

K1

∫ d2√
T
−σ

√
T

d1√
T
−σ

√
T

1√
2π

e−
η2

2 dη

��� $�
����� � 	��# 	
� ���� ( 
� $!��� !�� �$

ξ

K1

(Φ(
d2√
T

− σ
√

T ) − Φ(
d1√
T

− σ
√

T )),

��
� Φ � �+�
��	��# �����	��� ��	��
�#� 	�� 	��
�
������� ���
���#�
��	��
�#��

&������ ,+ ��� ������� Black-Scholes �����	
��� �
� ���� ���� �
 �������
���
��� t = 0 ��� ��� ������� arbitrage 	�� �� �������� ����	�	� �gap call-
option��

F = (ST − D)I{ST >K}, K,D > 0.

ST �
��� 
 ����
� ������
�� ��� ��
���� �
� ���� �
� ������� ���� �

������� ���
��� T �

����
��� 	
 ���� � 
 �$ ����
�� F = (ST − D)I{ST >K}, K,D > 0 ��	� 	�

"�
���# �$�!
�
 T ' ��"%$� �	� � 	��# 	
� ��	� 	�� "�
���# �$�!
�
 t = 0 $!���
!�� �$

e−rT EQ((ST − D)I{ST >K})

��
� Q $!��� 	
 �
������ ��
�%���
 ��	�
 martingale  �� 	�� � 
�� ��� r 	

$��	���
 �$ 	
 
�
!
 ���	
�!�$	�� � "����	��# �
���� �	
 [0, T ]� 2 ��������
	��# ���� $!��� !�� �$ e−rT EQ(ST I{ST >K}) − e−rT EQ(DI{ST >K})� 3 ��(	
�
��
� 	�� ���.
��� $!��� � 	��# 	
� asset-or-nothing option �
� ��
)
 !���$

4



�	�� ��
� 
%�$�� ������� 3 �$%	$�
� ��
� $!��� !�
� �$ De−rT Q(ST > K)'
���� ���� �"
��$ ��
)
 !�$� �	�� 5������ 6 	
� ��
� 
%�$�
� .�))��!
�
� ��+���	�	� Q(ST > K) $!��� !�� �$

1 − Φ(
lnK

ξ
− (r − 1

2
σ2)T

σ
√

T
) = Φ(

ln ξ
K

+ (r − 1
2
σ2)T

σ
√

T
),

��
� S0 = ξ� 7�
����� � 	��# 	
� ���� ( 
� $!���

ξΦ(
ln ξ

K
+ (r + 1

2
σ2)T

σ
√

T
) − De−rT Φ(

ln ξ
K

+ (r − 1
2
σ2)T

σ
√

T
),

��
� Φ � �+�
��	��# �����	��� ��	��
�#� 	�� 	��
�
������� ���
���#� ���
	��

�#��

&������ �+ ��� ������� Black-Scholes �����	
��� �
� ���� ���� �
 �������
���
��� t ���� 0 < t < T ��� ��� ������� arbitrage 	�� �� ����	�	� �
�
���
�
� 1�

����

(i) 2 ��	
%�$�� 	��# 	
� ���� ( 
� $!���

e−r(T−t)EQ(ST I{ST >K}|Ft),

��
� Ft $!��� � σ��) $&�� ��
����)�� 	
� Ω �
� ���� $	�� ��� 	��
	�"�!$� �$	�&)�	�� Bs, 0 ≤ s ≤ t 	�� �!����� Brown 	
� �
�	�)
�
��� Q $!��� 	
 �
������ ��
�%���
 ��	�
 martingale 	�� � 
���� ��
� 	��# St 	�� �$	
"#� ��	� 	� "�
���# �$�!
�
 t $!��� !�� �$ y' 	�	$ �
��	
%�$�� 	��#  ��.$	�� ��
�%����

e−r(T−t)EQ(ye(r− 1
2
σ2)(T−t)+σ(B̂T−B̂t)I{ST >K}|Ft),

��
� (B̂t)t∈[0,T ] � �!���� Brown �� ��
� 	
 ��	�
 Q ��� 	
 filtration 	��
��"��#� �!����� Brown �$	� 	�� �))� # 	
� ��	�
�� 2 ��	���	��	���

ST = ye(r− 1
2
σ2)(T−t)+σ(B̂T−B̂t) ��
�%�	$� +�	
�	�� u = T �	� )%�� 	��

�	
"��	��#� ���.
���#� $/!�����

Su = y +

∫ u

t

rXsds +

∫ u

t

σXsdB̂s

8



�� ��
� 	
 ��	�
 Q ��� 	�� �!���� Brown (B̂t)t∈[0,T ] �
� �$�� ��.$�
	�� $/�)�/� 	�� 	��#� 	�� �$	
"#� ��	� 	
 "�
���� ����	��� [t, T ] ��
��"%$� St = y. 9���	��
%�$ �	�  �� 	�� 	�"�!� �$	�&)�	# ST ��"%$�
ST = g(B̂T−B̂t) ���  �� 	�� 	�"�!� �$	�&)�	# I{ST >K} ��"%$� I{ST >K} =

h(B̂T − B̂t)' ��
� g, h : R → R Borel �$	�#���$� �����	#�$��� 5��� ���
	
  ����$�� 	
�� $!��� Borel �$	�#���� �����	���� 53��� � ��
��%/���
B̂T − B̂t $!��� ��$/��	�	� ��� 	�� Ft' $�
����� ��� � 	�"�!� �$	�&)�	#
	�� 
�
!�� )��&��
��$ 	� �$��$����� ���� 	��# $!��� ��$/��	�	� ���
	�� Ft� 7�
����� � ��	
%�$�� 	��#  ��.$	�� ��
�%����

e−r(T−t)EQ(ye(r− 1
2
σ2)(T−t)+σ(B̂T−B̂t)I{ST >K})

��� � �������� ���� 	��# ��
%	�� �$ 	
 
)
�)#����∫ ∞

d

ye(r− 1
2
σ2)(T−t)+σx 1√

2π(T − t)
e−

x2

2(T−t) dx,

��
� 
 ��(	
� ���� 
�	�� 	�� 
)
�)���	��� �����	���� ��	��	
�"$!
�	�� 	�"�!� �$	�&)�	# ST � 
�
!� ��� 	
 ��	�
 Q ��� 	
 Brownian

motion (B̂t)t∈[0,T ] �
� ��
���
�!�
�	�� ��� 	
 *$(���� 	
� Girsanov

$!��� !�� �$ ye(r− 1
2
σ)(T−t)+σ(B̂T−B̂t)' $�( 
 �$%	$�
� ���� 
�	�� $!��� �

�����	��� �����	�	�� ��+���	�	�� 	�� 	�"�!�� �$	�&)�	#� B̂T − B̂t

�
� ��
)
�+$! ���
���# ��	��
�# �$ ���� 	��# 0 ��� �����
�� T − t
-σ $!��� 
 ���	$)$�	#� �	�	���	�	�� �	� �	
"��	��# ���.
���# $/!�
���� �
� �$�� ��.$� 	�� ���)�/� �
� ��
)
�+$! � �$	
"#0� 1
 ���
�$!
 d $!��� � 	��# 	�� ��
��%/���� B̂T − B̂t ���� ��� 	�� 
�
!�
� � 	�"�!� �$	�&)�	# 	�� 
�
!�� +�)
��$ �� &�
%�$ 	� ���� 	��#
�$� $!��� !�� �$ ������ ��� �� ���&�!�$� ��	�' ����$� � �$!�	��� 	��
"�!� �$	�&)�	# I{ST >K} �� ��!��$� 	�� 	��# 1� ��	� ���&�!�$� ��

ST > K ��)��# �� ye(r− 1
2
σ2)(T−t)+σ(B̂T−B̂t) > K ��
�%���� ��)��# ��

B̂T − B̂t >
ln K

y
−(r− 1

2
σ2)(T−t)

σ
� 1�	$ ���
�	�� 	�� �))� # �$	�&)�	#�

η = x√
T−t

− σ
√

T − t 	
 �������� 
)
�)#����  !�$	��

yer(T−t)

∫ ∞

d√
T−t

−σ
√

T−t

1√
2π

e−
η2

2 dη

��� $�
����� � 	��# 	
� ���� ( 
� $!��� !�� �$

y(1 − Φ(
d√

T − t
− σ

√
T − t)) = yΦ(− d√

T − t
+ σ

√
T − t) =

6



= yΦ(
ln y

K
+ (r + 1

2
σ2)(T − t)

σ
√

T − t
),

��
� Φ � �+�
��	��# �����	��� ��	��
�#� 	�� 	��
�
������� ���
���#�
��	��
�#��

(ii) :$ ��	�
)� ��� �����
�� �$ ��	# 	
� ��
� 
%�$�
� $��	#��	
�' ��
�
�%�	$� �	� � ��	
%�$�� 	��# e−r(T−t)EQ(ST

K1
I{K1<ST≤K2}|Ft) $!��� !�� �$

e−r(T−t)EQ(
y

K1

e(r− 1
2
σ2)(T−t)+σ(B̂T−B̂t)I{K1<ST≤K2}).

2 �������� ���� 	��# $!��� !�� �$ 	
 
)
�)#����

1

K1

∫ d2

d1

ye(r− 1
2
σ2)(T−t)+σx 1√

2πT
e−

x2

2(T−t) dx,

��
� 
 ��(	
� ���� 
�	�� 	�� 
)
�)���	��� �����	���� ��	��	
�"$!
�	�� 	�"�!� �$	�&)�	# ST 	�"�!� �$	�&)�	# ST � 
�
!� ��� 	
 ��	�

Q ��� 	
 Brownian motion (B̂t)t∈[0,T ] �
� ��
���
�!�
�	�� ��� 	
 *$(�

���� 	
� Girsanov $!��� !�� �$ ye(r− 1
2
σ)(T−t)+σ(B̂T−B̂t) $�( 
 �$%	$�
�

���� 
�	�� $!��� � �����	��� �����	�	�� ��+���	�	�� 	�� 	�"�!�� �$�
	�&)�	#� B̂T − B̂t �
� ��
)
�+$! ���
���# ��	��
�# �$ ���� 	��# 0
��� �����
�� T − t -σ $!��� 
 ���	$)$�	#� �	�	���	�	�� �	� �	
"��	��#
���.
���# $/!���� �
� �$�� ��.$� 	�� ���)�/� �
� ��
)
�+$! � �$	
"#0�

1� ���$!� d1, d2 $!��� 
� 	���� 	�� B̂T − B̂t �$	�/% 	�� 
�
!�� � 	�"�!�
�$	�&)�	# 	�� 
�
!�� +�)
��$ �� &�
%�$ 	� ���� 	��# �$� $!��� !��
�$ ������ ��� �� ���&�!�$� ��	�' ����$� � �$!�	��� 	�"�!� �$	�&)�	#
I{K1<ST≤K2} �� ��!��$� 	�� 	��# 1� ��	� ���&�!�$� �� K1 < ST ≤ K2

��)��# �� K1 < ye(r− 1
2
σ2)(T−t)+σ(B̂T−B̂t) ≤ K2 ��
�%���� ��)��# ��

d1 =
lnK1

y
− (r − 1

2
σ2)(T − t)

σ
< B̂T−B̂t ≤

lnK2

y
− (r − 1

2
σ2)(T − t)

σ
= d2.

1�	$ ���
�	�� 	�� �))� # �$	�&)�	#� η = x√
T−t

− σ
√

T − t 	
 �����
���� 
)
�)#����  !�$	��

yer(T−t) 1

K1

∫ d2√
T−t

−σ
√

T−t

d1√
T−t

−σ
√

T−t

1√
2π

e−
η2

2 dη

;



��� $�
����� � 	��# 	
� ���� ( 
� $!��� !�� �$

y

K1

(Φ(
d2√
T − t

− σ
√

T − t) − Φ(
d1√
T − t

− σ
√

T − t)),

��
� Φ � �+�
��	��# �����	��� ��	��
�#� 	�� 	��
�
������� ���
���#�
��	��
�#��

&������ -+ ��� ������� Black-Scholes ���� ������
 ����� ����
�� �����!
��	�� �� break forward" �
���� �� #�����$��% �%��� ����	�	� �� ������

F = max{ST , K}−L,K,L > 0" ���� ST �
��� 
 ����
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